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ty = linspace (-8, 8, 101)';

[x, y] = meshgrid (tx, ty);

mesh (tx, ty, tz);

tz = ((x"3. %y )-(X . * v.23))./(x.A2 .+ y.”2);
xlabel ("x");

ylabel ("y");

zlabel ("z");

title ("f");

figure(1);
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tx =ty = linspace (-8, 8, 101)’;

[x, y] = meshgrid (tx, ty);

tz = ((x.A3.%y ).~ (x.*y.”3))./(x.A2 4+ y.A2);
figure(1);

mesh (tx, ty, tz);

xlabel ("x");

ylabel ("y");

zlabel ("z");

title ("f");

txyz = ((X.A4.412.%x./2. %y A2 - 5 ¥y AL ) ¥ (X A2 4 y.A2)A2.-4. %y *(x. A2 .+ y. 2 ). *¥(x. My o+
4.%x.N2. %y A3y A5))./(X.A2 .+ y.A2). A4

figure(2);

mesh (tx, ty, txyz);

xlabel ("x");

ylabel ("y");

zlabel ("z");

title ("fxy");

tyxz = ((5.*X.N4.-12.%XN2.%y A2 -y A ) ¥ (X A2 4 Y. A2) A2-4 XK (X A2 4+ y. A2 ). K (XAS - 4.8X A3 Ry A2 -
X.*y. M) /(X A2 .+ y.A2).M4;

figure(3);

mesh (tx, ty, tyxz);

xlabel ("x");

ylabel ("y");

zlabel ("z");

title ("fyx");

txz = (X.A4. ¥y +4. %X A2 ¥y A3 - y.A5 ) /(X A2 +y.A2).12;
figure(4);

mesh (tx, ty, txz);

xlabel ("x");

ylabel ("y");

zlabel ("z");

title ("fx");



